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r = -0.5959, p < 0.0001
All infections: r=-0.5959, p<0.0001
Symptomatic: r=-0.0932, p=0.6801
Asymptomatic: r=0.0867, p=0.7162
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r = -0.6806, p < 0.0001

D
All infections: r=-0.6806, p<0.0001
Symptomatic: r=-0.3371, p=0.125
Asymptomatic: r=0.3213, p=0.1672
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r = 0.6106, p < 0.0001

G All infections: r=0.6106, p<0.0001
Symptomatic: r=0.3665, p=0.0935
Asymptomatic: r=-0.1554, p=0.5131
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r = -0.6196, p < 0.0001

All infections: r=-0.6196, p<0.0001
Symptomatic: r=-0.1722, p=0.4434
Asymptomatic: r=0.1501, p=0.5277
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r = -0.3668, p = 0.0169

E
All infections: r=-0.3668, p=0.0169
Symptomatic: r=-0.4308, p=0.0453
Asymptomatic: r=-0.0339, p=0.8871
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r = -0.1202, p = 0.4483

H
All infections: r=0.1202, p=0.4483
Symptomatic: r=-0.0299, p=0.8948
Asymptomatic: r=0.4864, p=0.0296
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9 ) r = -0.6558, p < 0.0001
All infections: r=-0.6558, p<0.0001
Symptomatic: r=-0.0695, p=0.7588
Asymptomatic: r=-0.0611, p=0.7981
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r = -0.5124, p = 0.0005

F
All infections: r=-0.5124, p=0.0005
Symptomatic: r=-0.3721, p=0.0881
Asymptomatic: r=0.0618, p=0.7956
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r = -0.5119, p = 0.0005

I
All infections: r=-0.5119, p=0.0005
Symptomatic: r=-0.5438, p=0.0089
Asymptomatic: r=0.0950, p=0.6903


